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s (1-5) : g aferem o sam W EfafReq 1 4. 99 2019 § TeEda D grT IAfSld HHITE
T o I I A i ARl e ®1 o TR
Directions (1-5) : Read the following table and yfaera g ?
answer the questions given below it. Lo
. In the year 2019, commission earned by
i Hewi g i o hHie salesman D was approximately what
Yearly Commission Earned by Five percent of commission earned by A ?
Salesmen (A) T8 ¥ ®1E T&l/None of these
o | 2015 2016| 2017| 2018 2019 2020 B) 52
(Year)
(©) 21
S ) 18
(Salesman) @F\‘T&q Eqﬁawﬁgﬁ
A 27350| 28,500| 25200| 29,800 24,600 27,000 5. femadd i Cam
B 26,850] 27,900 27.400] 28000] 28,500] 29,000 ¥ 61 T § SAferehan gig guiar @ 7
C 26200 27.800] 28200| 29,100 29.400| 30,000 In which . dbvth
D 27.850] 30040 29.800] 30.060] 29.800] 32,000 n which year commission earned by the
E 28640| 29.000] 28750| 30,000| 29.750| 29,700 salesman C showed the highest increase
AT (Total) | 1,36,890 | 1,43,240 | 1,39,350 | 1,46,960 | 1,42,050 | 1,47,700 that of the preceding year ?
. o . A) 2019 B) 2018
1. a9 2018 § B %I HHIYH qidl TcqiHl & EC; 2017 ED)) 2016
3t a9 % PHoT HHSE BT T feha
qiéshla o1 ? S ] T (6-10) : € E arfetent /Aol @1 SIHYES
Int t 1SSi B ¢ . .
n the year ¢ commission o E it o A R vt 3 s

BETA21

was approximately what percent of the
total commission earned by all salesmen
in that year ?

(A) T8 § %1 T2l /None of these
(B) 80

(C) 98

(D) 19.05

fore Tewa 1 2018 T iz, 2015
T § Iy gfg gt 8 2

Which salesman’s commission in 2018 show
the highest increase over that in 2015 ?

@A) C (B) D

(© B D) A

Fe 1 3 form ad o foreht oft Semem gro 3ifia
I 3R ZTAH FHHIIH 1 I B ?
In which of the following year was the
difference between the highest and
lowest commission earned by any
salesman maximum ?

(A) 2020 (B) 2019

(C) 2018 (D) 2017

https://www.freshersnow.com/previous-year-question-papers/

- Directions (6-10) : Study the table and answer
the questions given below :

ot w1 # 9N IRR SR # Gl @ral i

T (Aehei H)

Number of accounts opened (in hundreds)
in four Share broker in various months

_2-

IR
st/ | R/ | T/ [T/ |3/ | R/
Share May |June| July | Aug. | Sept.
Broker
TS/ 25 | 28 35 65 55
Angel
@/ 22 | 18 32 30 45
Sharekhan
S/ 30 | 45 50 35 40
Zerodha
agga/ 35 | 42 45 50 60
Tradebull

B




10.

ST H gl el bl e <[ H et @l 61
TEAT E WA feha SfreTd shl 1 e ot 7
The number of accounts opened in Aug.
is approximately what per cent more or
less than the number of accounts opened
in June ?

(A) 40 (B) 34.6

(C) 353 (D) 335

TS O e ek Ut 8 ot @i <hl §@ 3
SR § ol WAl <hl T ohT ST T g ?
What is the ratio of the number of

accounts opened in Angel to that opened
in Zerodha from May to September ?

(A) 1.04 (B) 2.25

(C) 0.75 (D) 1.5

2T SR SRt H g Tl i it den
a9 @ ?

(A) S (B) ¢eg

(C) @M (D)

In which Share broker is the average
number of accounts opened the maximum ?
(A) Zerodha (B) Tradebull
(C) Sharekhan (D) Angel

S § ol WAl oh! T 1 37 @
T gol @Idi ! T 5 3Fd HT T
TeRaHT SfcreTa W AT ST AT 7

The average number of accounts opened
in Tradebull is approximate what per cent
more or less than the average number of
accounts opened in Sharekhan ?

(A) 50.69 (B) 45.90
(C) 60 (D) 57.82
frferiaa o & fee 78 & G @@l H
T shi 3Ed HEaH @ 7

(A) 53 (B) 3T

(C) Tt (D)

In which of the following months is the
average of the number of opened
accounts the maximum ?

(A) May (B) August

(C) September (D) June

P 11.

12.

13.

14.

= 9 9 1 O g et & a9enet= 92
(A) IHTEE (B) TMeH
(C) =a= (D) THEH

Which one of the following saints was
contemporary of Shivaji ?

(A) Shankaracharya

(B) Namdev

(C) Chaitanya

(D) Tukaram

AT o TUH T T D o 2
(A) e (B) s foreq

(C) dRIE™ (D) e Fsd
Who was the first Governor-General of
Bengal ?

(A) Lord Ripon

(B) Lord Lytton

(C) Lord Warren Hastings

(D) Lord Clive

(A) Tford (B) &g
(C) Tafewem (D) TSI

Charakasambhita is a work on
(A) Mathematics (B) Architecture

(C) Medicine (D) Polity

IR § e & aret feu Te smmEent
HITHITIAR Hal 570 FAT1 8 2

I AEmEEd

II. 3/

. AAREeN Raarstt

IV. Soqgaras

What is the correct chronological order
in which the following rulers ruled in
India ?

L Sher Shah Suri

II.  Akbar

III.  Ala-ud-din Khilji

IV. Iltutmish

(A) L Iv, L1 (B) LILIILIV
©) Iv,IIL LI (D) IV,LILII
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15.

16.

17.

30 § TRy YA o “UTUS 37eg #A7 < AW
ST ST 2

(A) GO (B)  ToRisemg vean
(C) o=, Ht. ST (D) SreTwTs RISt

Who among the following is known as
the “Grand Old Man” of India ?

(A) Surendranath Bannerjee

(B) Pherozeshah Mehta

(C) W.C. Bannerjee
(D) Dadabhai Naoroji

9 1915-16 | Topeeh A H &1 81 &
AT IE S ?

(A) foeres 3t srfa< o

B) Taetes 3R fefomrarg uret

(C) foreTeh 3R TN AATSIUd T

(D) T s 3R AT faereh

Two Home Rule Leagues were started in
1915-16 under the leadership of

(A) Tilak and Aurobindo Ghosh

(B) Tilak and Bipin Chandra Pal

(C) Tilak and Lala Lajpat Roy

(D) Annie Besant and Lokmanya Tilak

e dasH A SeI 9gl e 7 2

(A) AD.1709 - 3fiuTsis &l gy
(B) AD.622 - Yemmehi s
(C) AD.78 - 37 Yaq ! IEATT
(D) B.C.261 - wHfemyg
Which one of the following pairs is

incorrectly matched ?
(A) AD.1709 -

(B) AD.622

Death of
Aurangzeb
Commencement
of the Muslim
Era
Commencement
of Saka Era

The Kalinga
War

(C) AD.78

(D)

B.C. 261

BETA21

18, U IT T 1 AR fop femm 2
(A) TETcHT Meft
(B) Y=g a4
(C) AT T
(D) ®IEH YA
Who gave the slogan ‘Do or Die’ ?
(A) Mahatma Gandhi
(B) Subhash Chandra Bose
(C) Jawaharlal Nehru
(D) Sardar Patel
19. = o1 fire R
a. S 9EN 1. @t faeesr=<
b. Tmw R 2. AN wEEd
c. I HAS 3. THHE
d. womngs 4. F. ofiee
SR LRSS
5. SAferre gt
Match the following :
a. Brahmo 1. Swami
Samaj Vivekanand
b. Ramakrishna 2. Dayanand
Mission Saraswati
c. Arya Samaj 3. Ram Mohan
Roy
d. Satyashodhak 4. K. Sridharalu
Samaj Naidu
5. Jyotirao
Phule
a b c d
(A) 3 2 1 5
(B) 3 1 2 5
<) 3 1 2 4
(D) 2 3 5 1
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20.

21.

22,

23.

oot - forstel afE s fora A iR 2 7
(A) =™ (B) fumma
(C) Tl (D) ™

The Salal hydro-electric project 1is
located across the river

(A) Beas (B) Chenab

(C) Ravi (D) Jhelum

e foge g -

(A) 22 TR (B) 23 oAt
(C) 18I (D) 21 A= I

Vernal Equinox takes place on
(A) 22" December

(B) 23" September

(C) 18" June

(D) 21% March

TSI H Tae! qieieH fohees 3eamer
& e ufag g 7

(A) TegmfEm  (B) dfen

(C) =wId (D) &

The ‘Khetri Project’ in Rajasthan is
famous for the production of

(A) Aluminium (B) Copper
(C) Steel (D) Zinc
ST GUTYES S1F 3 AR TSR - o

AL Ue U LI e df 39 Ue 1 I&dtd
Topur feam a2

(A) .. oAt
(B) . Telg TETE
(C) gty Hara=n

(D) AR 1EE

When Subhash Chandra Bose resigned
from the Presidentship of Indian National
Congress, the seat was offered to

(A) J.B. Kripalani

(B) Dr. Rajendra Prasad

(C) Pattabhi Sitaramaiah

(D) Jawaharlal Nehru

i 24,

25.

26.

FrafaRaa o @ & = feamerht 3¢ o 6
afeat g 2

I el

IL T

1. S&g

V. TieEt

(A) II3ARIV (B) MI3WRIV
(C) II3RIII (D) 13RI

Which of the following are rivers of the
Himalayan river system ?

L. Kaveri

II.  Ganga

III.  Brahmaputra

IV. Godavari

(A) Iand IV (B) Iland IV

(C) MandIII (D) TandII

Seh g HT IR -

(A) T BT Seb g ot T aTelt
SATTIRTIER TS &F

(B) SifehT Teanat o oy sl @

(C) 3IIgfaa sl gRI &t I are!
SIS R

(D) HTEHRI GRI &t S aTef! S 8T

Bank rate means

(A) Official rate of interest charged
by the Central bank of the country

(B) Rate of profit of banking institutions

(C) Interest rate charged by
scheduled banks

(D) Interest rate charged by
moneylenders

SIS TP e e §

(A) (B) dfead sme

(C) 3r@m (D) HE e

The Kaziranga National Park is situated

in

(A) Kerala

(B) West Bengal

(C) Assam

(D) Madhya Pradesh

BETA21
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27.

28.

29.

0 U forg TR 1 S1efeaen ° gHEreHl
W et R B SR TRl
Tfafafern 1 &7 3evd a9 At HE
BT ?

(A) dSfvas B) fufsa

(C) wasEd (D) Ysfardt

In which of the following type of
economies, resources are owned
privately and the main objective behind
economic activities is profit-making ?

(A) Global (B) Mixed
(C) Socialist (D) Capitalist

il ¥ o1 A1e fohteh g SEaTedid aran & 2
(A) T ofua

(B) faawsh

(C) 9T o gl

(D) 3TR.¥1.3TE. TR

The One Hundred rupee note bears the
signature of :

(A) Finance Secretary

(B) Finance Minister

(C) President of India

(D) RBI Governor

fE AT, TS, Foha IV 1 HeT ¢ al
GG Hoid I T 38X B 2

(A) STH H IS T

(B) ¢RI |

(C) =T |

(D) TS 3TEL T B0 |

If RBI reduces the cash reserve ratio,
what will happen to the credit creation ?
(A) None of these

(B) It will increase.

(C) It will decrease.

(D) There will be no impact.

BETA21

+ 30.

31.

32.

IR o AGH T T W@ Td Wesdl
fopmt T B 7

(A) T HIE TE

(B) @I g H

(C) wwadt gt &

(D) T |

The ‘Public Health and Sanitation’ is
included in Constitution of India in

(A)
(B)
©)
(D)

None of these
Union List
Concurrent List
State List

IR § Ut Tl STaeel §8eh JTaid Tt
TR

(A) T & 3 T

(B) Ty i o fresres aw

(C) TifeAes hiea

(D) T HfErHR

Panchayati Raj System in India is laid
down under

(A)
(B)
©)
(D)

None of these

Directive Principles of State Policy
Fundamental Duties

Fundamental Rights

HAT (FEMA) %1 q901 &9 11 8 7

What is the full form of FEMA ?
(A)
(B)

Foreign Export Market Agency

Finance and Export Management
Association

©)

Foreign Exchange Management
Act

(D) Funds Exchange Media Agency

https://www.freshersnow.com/previous-year-question-papers/



33.

34.

3s.

36.

fra 4 9 feua dfoum a4 Sgew
J&ATS” T ?

(A) T, Ta

(B) ®1.3TR. =R

(C) TgreAT meht

(D) SR TEE

Who among the following moved the
‘Objective Resolution’ in the
Constituent Assembly ?

(A) B.N.Rao

(B) B.R. Ambedkar

(C) Mahatma Gandhi
(D) Jawaharlal Nehru

TR dfgum % fem  ese #
FeqEEIsh! % fga fifga € 2

(A) SHHABETE (B) 3T 29
(C) Fg=we24 (D) 3IT=q 2l

In which Article of Indian Constitution,

the interests of minorities are covered ?
(A) None of'these (B) Article 29
(C) Article 24 (D) Article 21

319 ITee B 9N 918 B B

(A) THEBE R (B) W soragH
(C) =gH (D) iEH
Current carriers in solid conductors are

(A) None of'these (B) Free Electrons
(C) Neutrons (D) Protons

Trem =1 1R weh Tiferes SAfrepr 7, S
%Wﬁlﬁ%

(A) TTH 9 IS T

(B) 31=8¢ 29T 30

(C) 31g=8¢ 194

(D) STI=8C21AH

Right to Education is a fundamental
right, which is related to :

(A) None of these

(B) Articles 29 and 30

(C) Article 19

(D) Article 21A

i 37.

38.

39.

40.

41.

ST TTeret o1 TERIeh 19 I8 i 2 —
(A) wifsaw FaRIE (NaCl)

(B) difeam sgehTai-e (NaHCO5)

(C) Hicaam ATRilaRINTES (CaOCl,)
(D) Hfewm Tehe (CaSO,)

The chemical name of Bleaching
powder is also

(A) Sodium chloride (NaC/)
(B) Sodium bicarbonate (NaHCO5)

(C) Calcium oxychloride (CaOCl,)
(D) Calcium sulphate (CaSOy,)

18-ohic |1 H @ A o1 fcwrd &

The percentage of pure gold in 18-carat
gold is

(A) 100% (B) 80%

©) 75% (D) 60%

Hal § ggard | gl 8

(A) THIEBE R (B) foerit=B

(C) fefmA (D) fwfmC
Orange contains abundance of

(A) None of'these (B) Vitamin B
(C) Vitamin A (D) VitaminC

r_n
196 56
(A) 212
(C) 14

hTST Y fohEeh WTTH <6l TS B ?

(A) TATESIE I TIf Y

(B) ok o H f=alfel o STehreT gIRT =it T G4t bl
(C) THISH T R grach gl
(D) U a4 § AU} 778 Wehe i T
Light year is a unit of measurement of
(A) Speed of Aeroplane

(B) Distance travelled by light in a

vacuum during one year
(C) Distance travelled by sound in a
(D)

(B) 324
(D) 18

vacuum during one year
Speed of Rocket measured in a year

BETA21
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42. V53 b S B

V5+4/3
ﬁ_g is equal to :
+
(A 1 ®
(C) 4-415 (D) 4+ 415

43. .. G H YA 30% T T ITh! fershl
20% & TS | GHMGI 3 3T T IEH! 1
JHT 9Lt ?
(A) 16% =t (B) 16% st
(C) 10% =t (D) 10% st
On decreasing the price of T.V. sets by
30%, its sale is increased by 20%. What
is the effect on the revenue received by
the shopkeeper ?

(A) 16% decrease (B)
(C) 10% decrease (D)

16% increase
10% increase

44. IR Rgwfedi 6t 3HA W 18.5a8 8 | 3R
I <! 30 it 3TH e 61 ST AT 3iEa
3 20% & I 3, A = HI AR :

(A) 3799 (B) 3499

(C) 31ad (D) 28a%

The average age of four players is 18.5
years. If the age of the coach is also
included, the average age increases by
20%. The age of the coach is :

(A) 37 years (B) 34 years

(C) 31 years (D) 28 years

885x885x885+115x115%115
885x885+115%x115-885x%115

(A) 1000 (B) 885
(C) 770 (D) 115
BETA21

i 46, ‘TH BT UAREEN BT ATE ?

(A) TEiEE (B) =aUT
(C) 3IEHR (D) fowemr
47. ‘TH B A I 919 o fore = few g
forhea © | T w1eg T
(A) weHR (B) WeHd
(C) (D) T

48. TR GER YT gErer 1 37 fefE |
(A) HH ST
(B) Sgd S
(C) TS H =gd el
(D) Q& &t &1 T

49. G T 1 = HIT |

(A) WHETEhIET  (B) HEWhIE

(C) TIgThian (D) Wacaehiall
50. ‘Thel ol Il veg 8

(A) FTehell (B) ST

(C) waE (D) =§A
Directions : Read the passage carefully and

answer the corresponding questions : (51-53)

Nehru’s was a many-sided personality. He
enjoyed reading and writing books as much as
he enjoyed fighting political and social evils or
resisting tyranny. In him the scientist and the
humanist were held in perfect balance. While
he kept looking at social problems from a
scientific standpoint, he never forgot that we
should nourish the total man. As a scientist, he
refused to believe, in a benevolent power
interested in men’s affairs; but, as a self-
proclaimed non-believer, he loved affirming
his faith in life and the beauty of nature.
Children he adored. Unlike Wordsworth, he
did not see them trailing clouds of glory from
their recent sojourn in heaven. He saw them as
blossoms of promise and renewal, the only
hope for mankind.

—-8— B
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51.

52.

53.

54.

5S.

56.

Pt. Nehru enjoyed

(A) doing all these and much more.
(B) resisting tyranny.

(C) fighting political and social evils.
(D) reading and writing books.

Which of the following statements

reflects Pt. Nehru’s point of view ?

(A) There is no common ground
between Science and Humanism.

(B) Science and Humanism are equally
important.

(C) Science is supreme and Humanism

is subordinate to it.

(D) Humanism is more important than

Science.

A many-sided personality means

(A) acapable person.

(B) aperson having varied interests
(C) asecretive personality

(D) acomplex personality

Give Antonym for the following :
Transparent

(A) Clear (B) Opaque
(C) Limpid (D) Obvious

Give Synonym for the following :
Famous

(A) Steady (B) Popular

(C) Poor (D) Awful

feu T faspedt § @ geftq see &1 w=H
o

wegfifersrt : wefl - et ;2

(A) I (B) WHd

() W (D) |9

Select the related word from the given
alternatives :

Ornithologist : Birds :: Anthropologist : ?
(A) Environment (B) Mankind

(C) Animals (D) Plants

1 57.

S8.

59.

60.

fopett ffe=d e § PRODUCTIONS &1
QQPCVEUHPMT fer@t sirar & | 3¢t e
T ORIENTATION forH ehR fora stra 7

In a certain code, PRODUCTIONS is
written as QQPCVEUHPMT. How is
ORIENTATION written in that code ?

(A) NSHFMVBSJNO
(B) PSJFOVBSINO
(C) PQIDOUBUIPO
(D) PQJDOVBSINO

e <At 3T 330 SR g¢ Ffeet « war, «d
3R TT % A I Soheiral 9 § 17 G,
fiRaet @ forg yepr Taftra 8 2

(A) w=wed  (B) A

(C) wish (D)

Pointing towards Rita, Nikhil said, “I am

the only son of her mother’s son.” How
is Rita related to Nikhil ?

(A) Cousin (B) Mother
(C) Niece (D) Aunt

e fopet e | 25 31T ol AR B, O IE
HEM | HHa ! 971 7
If the 25" of August in a year is

Thursday, the number of Mondays in
that month is

(A) 6 B) 5

© 4 D) 3

3G IT8E T I HITTT 371 T o STehl Ireqt
T et T T |

(A) R (B) de

(C) H¥EA (D) <&

Choose the word which is least like the
other words in the group.

(A) Cheese (B) Oil
(C) Butter (D) Curd
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61.

62.

63.

64.

BETA21

A1 T Tl T S fo o i
e A SIS 8 ?

(A) FETHH (B) amsfeam

(C) wRAtwrear (D) Fem=a-fasn
Which Indian telecom company is
world’s fifth strongest brand ?

(A) Vodafone (B) Idea
(C) Bharti Airtel (D) Reliance-Jio

qics (BOLD — Bamboo Oasis on Lands
in Drought) TS BT &1 H Wd o fhd
T 1 & I TS 2

(A) HeI e (B) fe=w

(C) wfwmm (D) TSI

The Project BOLD (Bamboo Oasis on
Lands in Drought) was recently launched
from which state in India ?

(A) Madhya Pradesh

(B) Bihar

(C) Haryana

(D) Rajasthan

TIF TP hl Bl (COVAX) AT
AT HIfTS-19 Hl TR o= = Fre
AT A BT AR ?

(A) HsH (B)  3ThIshT

(C) Hresfife (D) =

Which is first country to get free COVID-
19 vaccines through the COVAX scheme
of United Nations ?

(A) Sudan
(C) Nigeria

(B) Africa
(D) Ghana

= o § fop wTet o ATse 218E Wil
&1 foraTaem el gam 8 2

(A) T (B) ==

(C) T (D) 3FRAST

In which of the following cities Light
House Project is not implemented ?

(A) Patna (B) Chennai
(C) Ranchi (D) Agartala

' 65.

|67

~-10-

66.

68.

3H AT TEeta o1 1 1 B, S g &
T T o foTu 31 |ie b Sifcrare) TR 1 2
(A) WHFAR  (B) U= &g

(C) ghaufs (D) IFRR A
Name the Indian wrestler, who gets two-
year ban for doping recently.

(A) Pawan Kumar

(B) Ravinder Singh

(C) Sumit Malik

(D) Yogeshwar Dutt

T T 98 <hi {1 JUH TSI 7, &1 We—
T-TUE $-hfae YOTTel! ] oh! TR & 2

(A) gfemn (B) T3

(C) =@ I™ (D) IWI
Which State in India is first state to
implement an end to end e-Cabinet System ?
(A) Haryana

(B) Goa

(C) Himachal Pradesh

(D) Uttar Pradesh

TrE YR 9o g BT &1 H 2019-

2020 o fotw 3, €t 3718 w03+ (UDISE+)
I[& fepat TR 2

(A) REAIEE  (B) o wAeE
(C) Tenmmaerm (D) A A

Which Indian ministry recently launched
UDISE+ for 2019-2020?

(A) Ministry of Home Affairs

(B) Ministry of Finance

(C) Ministry of Education

(D) Ministry of Health

FHaNe § S el WRATE g <l gad

ITLeh! HigeT STanemEt HiF g 2

(A) HegdrEEe (B) g iy

(C) sagen (D) o ar=een

Who is the second Indian born American

woman astronaut to fly to space ?

(A) Kalpana Chawla(B) Ritu Karidhal

(C) Shreya Badla (D) Sirisha Bandla
B
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69.

70.

71.

72.

fERIrE sefeia (Al) s aéa
“SUPACE” WIid # e =i & fow
& Tepat T 2

(A) FTH @ i3 TE

(B) T T

(C) TSUd 3= AT

(D) feeett 3= =™

Artificial Intelligence (AI) based portal
‘SUPACE’ launched for which court in
India ?

(A) None of these

(B) Supreme Court

(C) Gujarat High Court
(D) Delhi High Court

Topae YT TS <uTel § EiT 91 id
g7

A) @ (B) H

(€) = (D)

How many Indian States share their
boundary with Nepal ?

(A) Two (B) Three

(C) Four (D) Five

ot & & et fiept o TeuT B EH R 9
(A) TR (B) feoeft

(C) "HSH (D) sifs

Which of the following is the capital of
Costa Rica ?

(A) Dhaka (B) Delhi

(C) SanJose (D) Beijing

wrewH fmtar e 3 fora forehe faemet
1 ST SIS TS e ferall 2
(A) BreRygss  (B) surid Mt
(C) W.wH. gt (D) forre wiget

Smartphone maker ‘Vivo’ appointed
which cricketer as its brand ambassador?
(A) Shikhar Dhawan

(B) Ishant Sharma

(C) M.S. Dhoni

(D) Virat Kohli

i 73.

74.

75,

76.

—-11 -

T o GG o ITTHR Tl TN h Heel
* FTRrehan GET w2

As per Constitution of India, what is the

maximum  strength  (number  of
members) of the Lok Sabha ?

(A) 552 (B) 550

(C) 540 (D) 530

To=t fea@ s TR AT B 2

(A) I3 (B) a2
(C) IR 1 (D) T 14
When is ‘Hindi Diwas’ celebrated ?

(A) October 3 (B) November 2
(C) October 1 (D) September 14

T8 T HIF 91 < 9Teh (SAARC) 1 HeH
T2

(A) ™MER (B) SAHIEH
(C) AT (D) =Te

Which of the following countries is not a
member of SAARC ?

(A) Myanmar (B) Afghanistan
(C) Bangladesh (D) Nepal

SR TG LG hl TR W
fadasne

(A) fagen (B) U< 3reqHt
(C) woITeH (D) dfia

Which among the following is the

official language of Union Territory of
Lakshadweep ?

(A) Sinhala

(B) Great Andamanese
(C) Malayalam

(D) Tamil
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77. 3N TohE YR TS /ShegRTied TexT <l
HTEh{Teh 399 & ?
(A) HAICH (B) dfierTg
(C) e (D) 3™
Onam is the cultural festival of which
Indian State/ UT ?
(A) Karnataka
(C) Kerala

(B) Tamil Nadu
(D) Assam

78. frafofge & @ & @ 7= @ % wo@
EECER I

(A) 34 (B) W@

(C) =g (D) et

Which of the following planets is closest
to the Sun ?

(A) Mercury (B) Mars

(C) Moon (D) Earth

79.  IeeT JEEEHR STaH dTet T2 TRRITE S 9 2

(A) HeL & (B) Tl &R
(C) Tsamet (D) &
Who was the first Asian Winner of
Nobel Prize ?

(A) Mother Teresa

(B) Rabindranath Tagore
(C) Rajiv Gandhi

(D) C.V.Raman

80. = o § for WM W IS@I-taiq i
ToE fRra 8 2
(A) TS (B) 3frTaTg
(C) feeeht (D) STefe

In which of the following places Ajanta-
Ellora caves are situated ?

(A) Lucknow (B) Aurangabad
(C) Delhi (D) Bengaluru

BETA21

y Tdw : FmaforRaa e w1 egEes ufeu qen 34

TR 3MHTRA J¥1 (81-85) o ST T :

A & g oh! ToviTeh1aii bl AeT-Har
o w0 & for wiefsh 3 fava w1 stfga
w91 3@ YeM foha | TITeS et wd ¥ o6 Iw
3R ATEET % R fowdl o HeR § hHalk ged i
off I SR ST HHAT ] | IR 3 RAgr=i b1
wlieqor oft foper 3R o “frar=a” Twer frg g | fea
¥ T8 siedl 8, g, g 1 S ol @ 3R 9H
° I 1 fglg Bt 8 | 37 I8 Mivad g T
forn s 3 stfean o fova 9 ey wenfua =t &t
Fehdl | WMf=T < UG § HES SIfd 1 faehE
TS Tal | T Y 1 TATH - St gl AT
], Sfeh Igi gt wifer 3R g@ T &1 9 Sa9an

| T S fohT ST & | ifae gfE | =mR

3R iy 1 Al oft wrifereprat o & TF9a Bt 2,
374 BH Afe fava 61 heam Tmed & @t g6 Ig
STEShTL LT &1 BT | SATEET 3R S| hl a1 o
Terear == Tenfua sl Brft, et foree & gema
Td e T Shl T T g |

81. foga wrifa <Y T o foru wer® Sterwares
H

(A) uftem 3R I
(B) 3Tt 3R Tfiuar
(C) Afgan 3w
(D) feam s =
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82.

83.

84.

8s.

FHAX U H3NX BT ! ol hiHA I91=T S
HohdT &

(A) WIGHM
(B) 3fe@m g
(C) WM YT grRT

(D) I UTeH grl

Teret oft Ty o @t -3 & Y@ a &
(A) =T, @ 3R HATCHS H1
(B) 3TEATH 3T IUTEHT

(C) o9 3R TH

(D) o 3R v

‘T’ 31eg 1 IWH TITT B
A fm=
(B) faferer

(C) foretpet
(D) WAt

fergar o wrifer =il arrervares B 2

(A) R H 3R T&I I Wl HHA T
* fog

(B) SATIR 3R iy i 3af & ferg

(C) ITHIH TETcHS 1 o T

(D) |4 St % faehr o fog

13-

| e - FraforRaa e <t erEe ufew e 34

TR 3G T (86-90) o IR AT :

o™ 311 % AFE-Sfied o1 AfavT=T T
T8 30 &9 T § | A -Sfted 1 h1g off &
form %6 313yayd nfarsehrl & ey & <@ | 3
T 3gHS I OFE 1 I Hedl g | IS
fome = g8y 3R AR, ATfeerer 3R TeHifas,
Tl S Hueh, Gofiafa 3 stk Fafereae
3t &fyes, tfimar it et aun s 3w
g |t w1 3T At &= | feret 7 foreft w0 o
3T AT TeF ¥ TR o1 § | 3T |9
TitereT fersiToe g1 7T @ | fersm o <o 1fevft %
THISER H oo S1-9Sl YT ot Wal 3R
rgiferertati o €1 gfoma 7 B, Iegd o T 3R
ST hi EHIST ol ATeeht STae | off Tl
& | aqd: T srae aee < ged w9 v

ST S | 35 9 § A e 3R STUSRTd

&1 FRmfor a9 went 7 | fag & 3rue @ 9g o
bR 1 Gaenati 3t graersti 1 @iy
HUTHI ¢ | 376 I8 H/A-HJ37 o ThIT T HATHTT
ud T TEl 2 | foega 9 39 aneteRa TR R,
ISTAT S Sfaetd & B, 527 earent fondt off s
%I TFH BT I AThd M € 7 | FHRSH o fafay
L 30 gAY & | ARG T HAR o T19H1
ferhrar & T 31 Torm it <t wgd A &1 TS #
3R T forvd Ueh IHER-81 & &1 2 | iy
HIT I o & H IcATEH ohl il g B o BRI
3 g veet | I eH-aT ¥ wEE R
foen o fafeeen & &= § fosm it @
e 7 | foe & deam & 5 ot 3R
TG h 3T 66 TEAHCIh hich 318 TANE
ST | JAY B GHT 8 | FaTai, fomie 3 o b
Sifgeh forehE YeM fopam @ TR dfTieh fo=-
wgfa & % | Smfe faa-vgfd & aq=
JTyfvaTHl 3 g -t & U ekt e
Td Ggfetd & | Gre - =R ot TehdT & 3T e
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T TR S1a S Gohdl @ | 39 WIS o HH ol
M o refavarEl, yaqut iR gfepart fommd,
W3 3R SITaT @ g fireft 2 | foe B @@ o
T 8 | IHd ! =1fe o o T 6t 30 amw
T I TEHTCH 11 H GTTord o |

86. I faa-vgid 7 I 1 Had S
Sush g feran B foh 38 gfts firehi 8
(A) W= ATEhiaeh TSt |
(B) wmqut wfeard! feamon &
(C) YU fars Sftu=iaharsti &
(D) w=gferd argfem @

87. Tava o UNERad o &1 THE SR 3
(A) Tava-srgea st e w1 faeh™
(B) Tasm &t Sfem @ wfaman
(C) T Y nfersfier srfxmat
(D) ITAETd Ud TR G1EHT T o™

88. ‘TGS g W AN B
(A) T8 IR Y S
(B) ®eft o foTu Stfacet Y at
(C) dEH @ 37Tat hl W&
(D) 3TUE Y] R ST

89. ‘ANi-eh-Tuae Yesu A I B
(A) TIEY T Hqferd e
(B) a=Tteni gr foharm o faeam
(C) aTcqeh fa=a
(D) IR fermae

90. fom wE i gaw St ke @I HE
T 2 TR 3k 9 o AL
(A) AT o & T &8 h Hehall 2 |
B) Tt wiifoes gleensti @ wm= R |
(C) a3 sforsTd 1 faiit 2 |
(D) Terpa v 1@ 2 |

BETA21

i T7ew (91-95) : e feu T TTE W aneiE € | 59

T o TG |
Directions (91-95) : The questions are based

on the below shown graph. Answer these
questions.

TT%h | Teh TUET H 7 BT oh 31816 IR A &
Feh1 sh1 JIUTA ST T |

The graph shows the ratio of marks of History
to Geography of 7 students in an examination.

1.6
1.5
1.4
1.3
1.2
1.1
1
S 09
0.8
E)OJ
0.6
0.5
0.4
0.3
0.2
0.1

(Ratio)

1 2 3 4 5 o6 7
B (Student)

91. = 4 @ 57 o1 =+ e it e
3feT | W 37 firet 2
Which of the following students got less
marks in History than in Geography ?

(A) 4,5,7 (B) 1,4,5,7
© 1,2,3,6 (D) 1,3,5,6

92. YA H B 3 ¥ 4 % AL 3o ! Tiawd
g 8 —

Percentage increase of marks in
Geography from student 3 to 4 is —

(A) 3ATehg 3ATH/ Insufficient data
(B) 90
(C) 20
D) 15
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93.

94.

9s.

80+
51
704+
651
60+
55+

50

SfE™ /a6 JAUehad 3T 3R § 96. T8t IR a1 oh ICATGH ohl ol H A<
[AAH 3TITT T IR 8 IR U H Fod H I I %
The difference of the maximum ratio and 6 T4 |
minimum ratio of History/Geography is During the last four years the production
(A) 1.20 (B) 0.90 of raw wool increased by % on
the production of the first four years.
C) 0.50 D) 045
© (D) (A) 25.0 (B) 19.8
) ) (C) 222 (D) 26.8
BE 4 B A § 60 37 et | 390
SfaeE o 37k & 97. 313 I < GRIA 37| IcdTed o
Student 4 got 60 marks in Geography. The average production during the eight
His marks in History are — years was .
(A) T8 T g T2/ None of these (A) 528 MT
(B) 50.0MT
B
(C) Zg (C) 62.5MT
© (D) 672MT
(D) 48
. . 98. 3o # Tt o W gt # AR
ot T 3 vt b1 sy sforera e ford Ted fog a4 T 7
31 it b 2 The maximum percentage decrease of
How many students got more marks in production over the previous year was in
History than in Geography ? the year :
(A) 5 (B) 4 (A) 2014-15 (B) 2013-14
©) 3 (D) 2 (C) 2017-18 (D) 2018-19
TR (96-100) : TTF 1 STERE F =faRad | 99, 2014-15 F %= HA I I 2019-20 %
T o I 3G o |
Directions (96-100) : Study the graph and The production of raw wool in 2014-15
answer the following questions : was of the production in
THed A T IeUTEA Hifees 2 | 2019-20.
Production of Raw wool in Metric Tonnes 3 1
IS A) — B) =
% ; 4 2
2 1
65 / (C) o (D) N
. % 3 3
% /
/ 58 % .
56 . % ? / 100. = H o eI H IATH g 1 9 AT :
% 1757% % / / The maximum rise in the production of
T2 02 5 x 3 = raw wool was in the year :
=z £ 2 z Z S (A) 2019-20 (B) 2016-17
oot e e o “ (C) 2020-21 (D) 2017-18
—15— BETA21
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